A BZE0HA
HE: AHAS LEME BR(AMIEX/ Q) - HA
B©Helr Logiel FEN ASEH

)

220D 269,630,970 251,559, 137 18,071,833
= 208,561,733
b 321,128
= 30,347,118
< 30,400,991
AYS CSME SR(AB=K/C0 - HAH) 210,724,067 189,033,559 21,690,508
= 170,869,665
p] 197,128
= 18,759,651
] 20,897,623
colgRiel HED ASEE 14,539,016 10,215,550 4,323,466
= 11,825,030
= 2,713,986
COIURIRIAY (2 D) 14,168,016 9,899,550 4,268,466
= 11,825,030
] 2,342,986
101 Q121 19,200 20,400 21,200
= 9,600
= 9,600
03 RIAHA2ERE S 19,200 0 19,200
OOtz MEQIZ Q12| 19,200
= 9,600
] 9,600
307 BI2HOI & 11,000 0 11,000
= 5,500
] 5,500
NEEWEES 11,000 0 11,000
O+8I|2 MR (CoAX2 SLEYAY) 11,000
= 5,500
= 5,500
308 RtXIEHHISOI® 14,137,816 9,879, 150 4,258,666
= 11,809,930
< 2,327,886
01 HXISHBLRES 14,137,816 9,879, 150 4,258,666
oz L RHIH 13,567,816
= 11,323,180
€ 2,264,636
o48I|2 MO 423,500
= 423,500
owolgxtzl ZE 3 126,500
= 63,250
= 63,250
Lol R2I ALY 371,000 316,000 55,000
308 XXM SO 326,000 316,000 10,000
01 HXISHYLEES 326,000 316,000 10,000
OAILIOIZE ZD| &X 20,000
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ZFoHe
2 cRME 2F(AMESK/ ol - HAd
olgiel &0 £ASEF

e E e

okogxiel #& 306,000
403 X SHH S =0l & 45,000 0 45,000
01 AXISHMA=2EE 45,000 0 45,000
OANUONEE HE= 45,000
CEMEEEL MO 167,387,984 147,739,391 9,648,593
= 144,627,493
Il 107,128
[ 12,653,363
COXNER HE 235t 48,000 75,200 227,200
301 getEa=s 20,000 20,000 0
07 212toI= 2|0 b 20,000 20,000 0
O FX L AMSEN IR0 20,000
307 2Izt0I A 20,000 28,000 28,000
03 MBIEHEZXRS 20,000 0 20,000
OAtSIEHH 28l XA (HEt-015]) 20,000
308 AtXIEHSOIH 8,000 7,200 800
01 HIXSHNBLEEES 8,000 7,200 800
OLQXNEX H=3 8,000
LoEsEEI2(21) 683,910 630,485 53,425
= 265,435
Il 107,128
< 311,347
307 2IZ2t01 A 683,910 630,485 53,425
= 265,435
Il 107,128
L= 311,347
10 ALBISXIE X 683,910 630,485 53,425
OLESHRBIIZ 2 530,870
=2 265,435
= 265,435
ostiillol-ol MEAEH XA 163,040
Jl 107,128
3 45,912
F2Y 2Z 243 & 3,322,866 3,341,344 18,478
308 XXl EtXISO0I & 2,502,866 2,321,344 181,522
01 IXSHENEES 2,502,866 2,321,344 181,522
OZ2Y =3 Z=I3 22X XIS (18E) 80,640
OZ2Y 2YH| XI& (2,924 ) 2,422,226
403 XXM SAH=0l ™ 820,000 1,020,000 A200,000
01 HXISHMI=EXE 820,000 1,020,000 £200,000
ox% g4 3ZRH JIsEd NE 820,000
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SN

X‘ii“:

P ERMEEEN ASEN S

=]

AZFoHel
2H2USH - EME EXF(A}QEIUL—.—_OI cEHA lé)

398,850

CO0INER ¥ B2s Y 168,742 £230,108
201 LB Y| 18, 142 14,550 3,592
01 AHR 2l H| 10, 142 6,550 3,592

OL-=XIIZ Vs 29 2,250
ORUEEA UL HANTA RAS 23 4,500
oOL-o=X ST HAF M 1,800
OYXZIANY L IZ-HABAY 2Y 1,502
03 & A2 H| 8,000 8,000 0
OUHOIE SH-Ql =8 #A 8,000
202 01| 24,000 12,100 11,900
01 20t 24,000 12,100 11,900
OL-Q0INER ¥ 523 FY =7 14,000
OLA=XAL U HIIQUAY =& 10,000
307 QI2HOI & 4,000 4,000 0
IWEETEES 4,000 4,000 0
OB LONREA UEX &I X 4,000
308 X+XI M SOI & 56,000 56,000 0
01 IXESHBALES 56,000 56,000 0
oL Iy L LRN24 BOILER 20,000
OAHMEE X 36,000
403 XX SRS KH=0I & 66,600 312,200 £245,600
01 REXISHHI AH2 2 & 66,600 312,200 245,600
OETREMA AHIA RB 66,600

Col #2320 X 312,000 364,800 ~52,800
308 X+XI M SOl & 312,000 364,800 £52,800
B ELES 312,000 364,800 £52,800

oF2+4+g X 312,000
JELBB(2D) 152,566,666 142,928,712 9,637,954
= 144,221,558
< 8,345, 108
308 XtXIEHHISOI & 152,566,666 142,928,712 9,637,954
= 144,221,558
-3 8,345,108
Pz ELES 152,566,666 142,928,712 9,637,954
P ET W 152,566,666
= 144,221,558
- 8,345, 108
Z2Y ZANIME X/ (2D) 281,000 0 281,000
= 140,500
= 140,500
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SN ZRE0HOID
HH: AUS LSME PEH(AMB=N/0 - BAE)
Gl CEMETIY ASE0 B0 (S ®E)

307 BI2t0| & 281,000 0 281,000
= 140,500
[ 140,500
10 AlZI2XIB X 281,000 0 281,000
oZaY ZAXKHE XN(=21) 281,000
= 140,500
[= 140,500
SEHLQ ZsMs 1 4,800 0 4,800
308 XX SHSO0IH 4,800 0 4,800
01 AXEHALAEES 4,800 0 4,800
OSHLO SSMHEIA X 4,800
Lolog - 2XA4 33,618,357 30,578,618 3,039,739
= 11,196,721
ol 90,000
2 18,759,651
= 3,571,985
LOIEIANE 2SR (EH) 20,872,722 20,872,722 0
s 18,759,651
[= 2,113,071
308 XX EHHI SOl & 20,872,722 20,872,722 0
s 18,759,651
[= 2,113,071
01 AXESHALEES 20,872,722 20,872,722 0
OLQIMEAL 2HXH 20,872,722
s 18,759,651
[= 2,113,071
LOEXAM JIsE2(2D) 4,853,354 3,693,662 1,159,692
= 4,027,797
= 825,557
403 RIXI SRS K20 4,853,354 3,693,662 1,159,692
= 4,027,797
[= 825,557
01 IIXSHA=2EX 4,853,354 3,693,662 1,159,692
OLOEXAL I 4,853,354
= 4,027,797
[= 825,557
LolEE MHA(Z2D) 7,784,281 6,012,234 1,772,047
= 7,168,924
[~ 615,357
308 XX SHSOIE 7,784,281 6,012,234 1,772,047
= 7,168,924
[~ 615,357
01 HXSHIABES 7,784,281 6,012,234 1,772,047
OLQEEAMHA HB 7,113,961
= 6,551,524
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SN BRI
T AAS CEMB ST(ABSX/ = - HAH)
SHol: TOIOZ - BRIANL BE EER-ED

562,437
OO0 SSAMEL0 2N 670,320
= 617,400
=

52,920

S0l STHE S20 AF(21) 108,000 0 108,000
p] 90,000
= 18,000
403 XX SIS K20l & 108,000 0 108,000
p 90,000
[ 18,000
01 XXM RH2 2 X 108,000 0 108,000

OSIH=ol S2OHE S2OAY AlAY 75 108,000
b 90,000
= 18,000
COISR U FAAL &5 3,807,542 500,000 3,327,542
3,220,421

607, 121
3,827,542 500,000 3,327,542
3,220,421

607,121
403 XtXISHH S K01 & 3,827,542 500,000 3,327,542
3,220,421

607, 121
01 RXISHX =R E 3,827,542 500,000 3,327,542

OFAAIE =5(21) 3,827,542
3,220,421

607, 121

SXANE 29 X2 1,351,168

H A

0
=
=
nx
o
Of
H
]

H1 W

0 W

H H

1,351,168
1,351,168

157,120
157,120

AR EXANE 2 1,351,168

307 212t01 ™ 157,120
10 B SXEX 167,120
O MSXANE SMX = 157,120

o]l o] o} O

308 XM SOIA

1,194,048 0 1,194,048

OAl - Z ABISIIANE SMARL =8

1,194,048
1,194,048

1,194,048

SX NEE S (MISX/HLASTR)

HMH S W

58,875,903
37,692,068
124,000
11,587,467
9,472,368

62,525,578

A3,649,675

e
It
-
=
x
Jor
O
He
Ho
02

HAD X W

17,521,771
1,220,806
124,000
11,571,467
4,605,498

26,070,458

28,548,687




S
H:

£

Z2Z0HQI
A=K ANEE |
FHASTANE &5 2 2

X/HXASXH)

o 0x
>
02 o
I

o
ﬁ
40

BHoANE g5 A 472,600 466,600 6,000
= 54,500
= 418,100
201 &2 8,000 8,000 0
01 At 22l 8,000 8,000 0
OZMAEAANL XE 2L 3,000
OHMA=SXARE 2 4,000
OFMNASXHE SMK ARHES 1,000
202 OiH| 12,100 12,100 0
01 SLHOHI 12,100 12,100 0
OZFMA=EXNST & MHMHA X =& 12,100
301 EtEAS 3,300 3,300 0
10 #AMAHIEAS 3,300 3,300 0
OZMASKIHE SAA Axts FAX 24 3,300
307 212t01 A 258,400 252,400 6,000
= 54,500
< 203,900
10 MBISXEx 258,400 252,400 6,000
OZFOAM I AMYH 2 54,000
OFOMASNZSAIY 2 39,400
OFOHABAANLXAHE 2 115,000
=2 34,500
& 80,500
OEJANELEIANYERH 2 50,000
= 20,000
< 30,000
308 A+XIEtMI SO0l & 190,800 190,800 0
01 AXEHBHEEES 190,800 190,800 0
OAZ HOAUASAIA 2 104,400
OEHMOCZERY 2 86,400
2 Mg 2858 1,000,000 2,400,000 1,400,000
== 642,849
= 357,151
307 21201 ™ 1,000,000 2,400,000 21,400,000
== 642,849
= 357, 151
10 M8 EE 1,000,000 0 1,000,000
OZRATMMEHR '128: 2HAX BH 1,000,000
= 642,849
= 357,151
ZACHEYH SIWEZ=0Y 29 N/ (212) 124,000 0 124,000
Jl 124,000
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SN

HH: FOIQUSX AME |
CHel: FOHQISXAIL &5 ¥ 2

ZZEoHel

S(AEI=X/HANENE)
2 29

40
5
0

307 212HO| & 124,000 0 124,000
bl 124,000

I ENEES 124,000 0 124,000
OZACNEYN TZHEI2IY 29 X 124,000
p] 124,000

O WEXAHEH 29 314,800 296,800 18,000
= 33,000
=3 281,800

307 212HO0| & 232,000 214,000 18,000
= 33,000
= 199,000

10 ASI = X2 E 232,000 214,000 18,000
OAZZOIQ RBXBME 2% 28,000
OXXIONQANNANMEH 2 110,000
= 33,000
= 77,000
OHLZOHQ WENHME 2% 35,000
0402827 23,000
0430 2 36,000

308 X+ X| &+ S 0| ™ 82,800 82,800 0

01 X SHBASES 82,800 82,800 0
OANLZOIQ RBNAME 2% 82,800

ohel Mes &3 120,000 120,000 0
2 31,200
= 88,800

307 QI2HOI & 120,000 120,000 0
= 31,200
= 88,800

10 MBI =X E 120,000 120,000 0
OLRAMABHIEY 2 8,000
OO IT ZHHS XY 8,000
OFN LB NANME2Y 104,000
= 31,200
= 72,800

ool NAWEAL 2% 272,850 | 221,000 51,850
= 190,995
= 81,855

307 2I2HOI & 272,850 221,000 51,850
= 190,995
= 81,855

I EEES 272,850 109,000 163,850
osHULSRAR 2 138,000
= 96,600
S 41,400
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ik

B

=

A= Zojol Dt
ZOHQI=X AYE SH(MSISX/HAHNEXR)
ZOfI=RAL &5 2 29

134.850|

o
40
0

= 94,395
= 40,455
IOl NAASIHEAE 2 2,479,004 2,544, 144 265,050
= 971,685
< 1,507,409
201 L2 2,183 2,183 0
01 AL 22/t 2,183 2,183 0
OFOQUSKIAIL BAK ARI&S| 2,183
202 O1Hl 10,000 9,800 200
01 2UHOIH] 10,000 9,800 200
OFMHAME ¥ NS N8 =T 10,000
301 YA 6,000 6,000 0
10 ALAH 2 &2 6,000 6,000 0
OBOHSRIAIL SAK &35 HAX 24 6,000
307 BI2HOI R 2,216,271 2,303, 121 186,850
g 971,685
= 1,244,586
NRNEEWEES 2,216,271 585,200 1,631,071
OFNTNT 29 56,000
OHOHO! ASSHE 29 187,950
g 56,385
= 131,565
oNsFATSL 2Y 85,050
g 34,020
= 51,030
O +3SHME 29 136,500
= 40,950
=3 95,550
O% +3SAMEHT 2l X 28,800
OUREHASEH=XZ 2% 1,521,211
= 725, 150
= 796,061
OFOAMIIEXIME 2% 113,260
= 79,280
= 33,980
oMEHMFAEE A 29 87,500
= 35,900
-3 51,600
308 XEXISHRI SOl & 244,640 223,040 21,600
01 X SHBARES 244,640 223,040 21,600
O+ SISAME T Q121 - AMBXY| X 44,640
OFOHQ! KIAAS] MBAL SYXH 200,000
HOHQUHFAE SSXE 11,064, 179 10,849,439 214,740
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A 2O B

B FOjI=R AYE S (ASSX/HANSKR)
2 2y

m
d0
o

=
EHelr ZOHAUSXALE &5 2 2

2 ;i»_\,. E e »\‘9,6*4'%’

T 1,416,941

307 RI2HOI & 210,900 0 210,900
= 84,360
= 126,540

N EEEES 210,900 0 210,900
OO SIIHFANL(0HE) 2 110,250
= 44,100
= 66, 150
OFMO ZESMEINF(HE) 2Y 34,650
= 13,860
= 20,790
OO DEMEIIF(01Y,01L) 2 66,000
= 26,400
= 39,600

308 XXl EHHI SOI 10,853,279 10,849,439 3,840
= 9,562,878
& 1,290,401

01 HNSHBL TS 10,853,279 10,849,439 3,840
OFMAHFAILRE QIS XA 80,640
OFMANFAL SYXA(ANR) 10,772,639
= 9,562,878
< 1,209,761

N EATYEAIL JISE2AY(2D) 535,327 281,485 253,842
=2 411,790
= 123,537

403 XHXI M S KHEOI R 535,327 281,485 253,842
= 411,790
= 123,537

01 AXISHHX =R E 535,327 281,485 253,842
oI AMEAL 52 535,327
= 411,790
= 123,537

HHUNFAIL JISELAY(2D) 607,771 3,759,300 23,151,529
= 467,516
= 140,255

403 XHXI M SKH2OI R 607,771 3,759,300 n3,151,529
= 467,516
= 140,255

01 RXSAX =L E 607,771 3,759,300 £3,151,529
OFOMANFAIL IS 607,771
= 467,516
= 140,255

SOEFNO FANE A (2D) 209,950 165,490 44,460
=2 161,500
= 48,450
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SN

X ZH .
S=-
EEE

Z2FO0H

TSN AEE SH(MISN/AHAHSTE)
ZOHQI=EXAE & & 2Y

403 XHXI M S K20/ & 209,950 165,490 44,460
2 161,500
= 48,450
01 RXIBHTERE 209,950 165,490 44,460
O=01E BOHQl FHME 209,950
2 161,500
= 48,450
EST0NC NRMSANHAL(ID) 234,000 78,000 156,000
2 180,000
= 54,000
308 XX EHHISOI & 234,000 78,000 156,000
2 180,000
= 54,000
NP EREREEE 234,000 78,000 156,000
OZS IR NHMENY 234,000
2 180,000
= 54,000
Zoje! e 28 67,200 43,200 24,000
308 XX EHHISOI & 67,200 43,200 24,000
01 X EHZLERS 67,200 43,200 24,000
o NETSE X 43,200
OF0HQ! orst 2 24,000
ZojOI=NAL B 2HDF 20,000 9,000 11,000
307 BI2tol ™ 20,000 0 20,000
EENEES 20,000 0 20,000
oSN RY =-EE2H 2WDF 20,000
ZojQIagorE o HEXR 41,001,442 3,226,530 4,774,912
2 3,333,652
= 16,000
= 4,651,790
Zojel I EMELE N 106,600 94,600 12,000
308 XX EHHISOI & 106,600 94,600 12,000
01 RXISHALEES 106,600 94,600 12,000
OFOIE Sardl X 10,000
OFoe! HISoIA=Y XY 20,000
o 234 X 52,800
O ALAA XA 23,800
Zojel MBES NBHE(22) 10,368,571 9,187,314 1,181,257
2 9,550,000
= 818,571
308 XX EHHISOI & 10,368,571 9,187,314 1,181,257
= 9,550,000
= 818,571
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2 FOHASK AMEE

T ZE2F0H

o= -

D Fojolagoly o MEXR

SH(MNEEX/HLHASNE)

(&)

10,368,571 9,187,314 1,181,257
oo B X 10,368,571
= 9,550,000
= 818,571
EEF0 BES2X N 107,568 83,664 23,904
308 XHXI EHHISOI & 107,568 83,664 23,904
01 HXSHMINRES 107,568 83,664 23,904
OSH EZF0 BS2X X 107,568
ool =XYX X (3D) 556, 044 331,542 224,502
= 463,370
= 92,674
308 XHXI EHHISOI & 556,044 331,542 224,502
=2 463,370
= 92,674
01 HXSHHBABES 556, 044 331,542 224,502
oXNe 2XIYX2 X 556,044
= 463,370
= 92,674
ool #HE20/(22) 1,266,240 998,728 267,512
= 1,055,200
= 211,040
308 X+ SHHISOI A 1,266,240 998,728 267,512
= 1,055,200
= 211,040
01 AXSHMINBES 1,266,240 998,728 267,512
OF0iQ HHTR0| XY 1,266,240
= 1,055,200
= 211,040
Z2Y AIZLEOIQ OHORA DHH(2D) 192, 150 133,056 59,004
= 183,000
& 9,150
308 XHXI EHHISOI& 192, 150 133,056 59,004
=2 183,000
= 9,150
01 X SHRBARES 192, 150 133,056 59,094
OAIZE O QIOHOFAF KIE 192, 150
= 183,000
= 9,150
TOjOl MAETOIAIL XR(21) 144,250 140,000 4,250
= 57,700
= 86,550
307 QI2HOI® 144,250 140,000 4,250
= 57,700
= 86,550
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Sk

=L

ELE

22 F042I Tt
ZojoI=R AEE |
ZOfQIMEON o X

o =

4
=N

(MBIEX/HAASKIA)

(&2 &&)

144,250 140,000 4,250
144,250
= 57,700
< 86,550
ZOHQ! MAMEZTOHAIE 45t XY 48,500 66, 100 217,600
201 eS| 3,500 3,500 0
01 At 22l bl 3,500 3,500 0
OZOHUMAZE BHIHEN B 3,500
307 212t01 & 35,000 35,000 0
10 AFRISXIE X 35,000 35,000 0
OZOHQIMAIZ HHOHAIE DAE S XIJ 35,000
308 AtXIEHMSOI A 10,000 27,600 217,600
01 ARSI EES 10,000 27,600 217,600
oZIHHE 24Hl NE 10,000
FOHAZ(=2) 17,196,248 15,444,922 1,751,326
= 15,237,182
& 1,959,066
308 XXM SOl A 17,196,248 15,444,922 1,751,326
= 15,237,182
3 1,959,066
01 AXENBdEES 17,196,248 15,444,922 1,751,326
OFjes K& 17,196,248
= 15,237,182
& 1,959,066
< XN2(=12) 6,243,483 6,370,043 A 126,560
= 5,532,200
& 711,283
308 AtXI M SOIA 6,243,483 6,370,043 2126,560
= 5,532,200
S 711,283
01 HXEHILEES 6,243,483 6,370,043 126,560
OFMAE XS(IIx) 2,801,340
= 2,482,200
& 319,140
OHM+E XS(XaRS) 3,442,143
= 3,050,000
= 392,143
0 22l X&(21) 1,759,800 1,050,000 709,800
= 1,676,000
S 83,800
308 XXl &M SOl & 1,759,800 1,050,000 709,800
= 1,676,000
== 83,800
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2N

B

el

ZEHO0H 1t

=X AEE SH(MBISK/HAANSTR)

ZofelMEors o HEXE

01 XEXISHHIZ 1,759,800 1,050,000 709,800
O=O§Ql o2 X 1,759,800
= 1,676,000
[ 83,800

FHOHQI K EHHl XIR(2D) 53,243 48,491 4,752
= 50,708
= 2,535

308 XX SHRISOIH 53,243 48,491 4,752
= 50,708
= 2,535

01 IXISHBAEES 53,243 48,491 4,752
OROHQ! XSty X 53,243
= 50,708
& 2,535

Foyel SEIEHI(22) 28,248 20,580 7.668
= 23,540
[ 4,708

308 XtXI SHHISOI & 28,248 20,580 7,668
= 23,540
= 4,708

01 HXCHBLBES 28,248 20,580 7,668
OROIQ SEXCH| X 28,248
= 23,540
= 4,708

FOHQ MEEXIIT DRNA(2D) 100,800 87,150 13,650
= 96,000
[ 4,800

308 XHXI SHHI SO & 100,800 87,150 13,650
=2 96,000
[ 4,800

01 IXISHHZASES 100,800 87,150 13,650
ORUEEID? DY 100,800
=2 96,000
& 4,800

HOHOIE THEXIZAL(2D) 2,190,179 1,814,588 375,591
= 2,017,270
[ 172,909

308 XHXI SHHISOI & 2,190,179 1,814,588 375,591
= 2,017,270
= 172,909

01 HXSHBASES 2,190,179 1,814,588 375,591
OXOHOIE MEXZ HISH X 2,190,179
= 2,017,270
= 172,909

ANE2AAO RO RS R Soeg N (2D) 82,080 87,552 A5,472
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SH:
X‘iiH:

crel

A2 =001
ZOHASX NEE SH(AMIEX/HAHNESXH)
© EOHOIMEIOIN U XHEX Y

= 6,480
308 Rt XISHHI SOl & 82,080 87,552 A5,472
= 75,600
= 6,480
01 RXSHBNR2ES 82,080 87,552 £5,472
OANEAZNALS XA QoL X 82,080
= 75,600
= 6,480
OHOF NFAFXA(2D) 338,598 218,200 120,398
= 250,082
< 88,516
307 BIZHOIA 279,500 218,200 61,300
= 195,650
= 83,850
W EEEES 279,500 0 279,500
OF IO IHEL S 279,500
= 195,650
= 83,850
308 XHXIEHHISOI & 59,098 0 59,098
= 54,432
= 4,666
01 RXSHBARES 59,098 0 59,098
OR2 AN A 59,098
= 54,432
= 4,666
NZ OISHEXIZHE 29 7,000 7,000 0
308 RtXISHRIS Ol & 7,000 7,000 0
01 RXSHBARES 7,000 7,000 0
OMES OISTHEXISHE 29 7,000
OIA 0Nl JAEROIXIRALY 40,000 40,000 0
= 16,000
= 24,000
307 BI2H0IH 40,000 40,000 0
= 16,000
S 24,000
IEETEES 40,000 0 40,000
OO A IIAER0| X 40,000
= 16,000
& 24,000
ZOHQIMAE BOIAL UR2(2D) 150,000 0 150,000
= 45,000
= 105,000
307 QI2+0| & 150,000 0 150,000
= 45,000
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Sk

=R

crel:

ZZ2EO0HQI 1t

OA=X AMHE SH(MISX/HAASIY)
FoHA AN 2 HEXR

02 RIABAEE 150,000 0 150,000
OTOHOIMAE BUAIL YX2(2D) 150,000
=2 45,000
= 105,000
SR HHSA0 N/AY(2D) 21,840 0 21,840
=2 20,800
= 1,040
308 XHXIEHH SO & 21,840 0 21,840
2 20,800
= 1,040
01 AXIESHBARES 21,840 0 21,840
OLETON HHEA ABEIIHE X 16,800
= 16,000
= 800
OYELHHO HEHA HHA X 5,040
2 4,800
= 240
TOHQIAITHA 2 ASIEOCI =Y 352,690 228,590 124,100
=2 137,610
= 215,080
ZOHQl BIZFEHR| BALER 35,600 35,600 0
307 Q12+0I 35,600 35,600 0
EEIEES 35,600 35,600 0
OARE =0l 3l 7,200
OF0HQl BOIS HAHS 9,000
OLAET =02l Bl 0| 4,000
O XXMFOHQ Oi&CHEl &It 1,800
OBXIZOI2 & Il A 6,400
OLBE XETOH =X 43 7,200
IO SHUSESAY 17,000 17,000 0
308 XHXIEHH SOI® 17,000 17,000 0
01 HXESHALERS 17,000 17,000 0
OTOHQ BHALANS 8,000
oBF2l HOSEA 9,000
eIl Nt E=W 36,500 41,500 5,000
201 Yere | 4,500 9,500 £5,000
01 At 2It] 4,500 9,500 5,000
OBOHUSRITHY A& 4,500
307 212+0I & 32,000 32,000 0
10 ALBI =X 2 X 32,000 32,000 0
OOf AANE X HEDS 12,000
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A HRE0HOID
B ZYOISK AYE SH(MSI=X/HLNESE)
ol TONQIAINA 2 AFSIEOIECH (Sl @e)

I EEEEEET T 20.000]

TNl AFSI &0l EO§ =X 27,800 27,800 0
307 812+0I & 27,800 27,800 0
10 ABIZXEE 27,800 27,800 0
OXEFOY 220 29 8,000
OFOIQ JIsZFIIHE N 15,000
+31HeE X 4,800
CIEZOHOl DEAM(2D) 41,580 42,000 £420
= 39,600
= 1,980
308 XHXIEHHISOI & 41,580 42,000 2420
= 39,600
= 1,980
01 HXISHBA RS 41,580 42,000 £420
OUERNC NS X 41,580
=2 39,600
= 1,980
Ol ZOHQ! ALBIEOl STHXIB A (2 D) 64,690 64,690 0
= 61,610
= 3,080
308 X+ EHHI SO0/ & 64,690 64,690 0
= 61,610
= 3,080
01 HXISHBARES 64,690 64,690 0
©@OI&ZONQ AFSIEO! O 64,690
=2 61,610
= 3,080
OIEZONY SAHIS XR(2D) 39,520 0 39,520
= 36,400
= 3,120
308 X+ EHHISOI & 39,520 0 39,520
= 36,400
= 3,120
P e ] 39,520 0 39,520
OO{HFOIQl EAHIS XIR 39,520
= 36,400
= 3,120
HEMHK =X BH 90,000 0 90,000
308 XHXI EHHI SOl ® 90,000 0 90,000
01 HXISHBARES 90,000 0 90,000
OXHMH XSS X 50,000
ONHMNE S SH3t A 40,000
B2 (F2FONAD) (JIEHIIEH) 31,000 0 31,000
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22U (F2F 00 )(DIEHIIEH
3

(&9 e)

Jl2ZH 31,000 0 31,000

FA29 JI238H 31,000 0 31,000

201 B2 22,500 0 22,500

01 AtR 22l I 22,380 0 22,380
ORA2Y AtR2Z2lH| 22,380

02 s&=2g| 120 0 120
ORAN2Y 322 120

202 G4 Hi 8,500 0 8,500

01 =W Kbl 8,500 0 8,500
ORA2E IU0HI 8,500
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